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Q. No. SECTION A: MACRO ECONOMICS Marks 

1 A: c 1 

2 A: ds 11 1 

3 A: a 1 

4 A: b 1 

5 
A: c 

1 

6 

A:  c 

1 

7 Government receipts, that either creates liabilities (of payment of loan) or reduce 

assets (on disinvestment) are called capital receipts. 

Sources: 

a. Borrowings 

b. Disinvestment 

1 

8 
A: a 

1 

9  

A: b 
1 

10 
A: a 1 

11 Many individuals opened their savings account in the bank. This paved the way to 

commercial banks to provide loans for investment activities. Thus, an economy increases 

the production level which leads to an increase in the level of national income. 

                                                                   OR 

No. Cash transfer of subsidy is to be treated as transfer payment. Of course, it increases the 

annual income of the HHs. But the increase is not related to the factor services rendered by 

HHs. Accordingly, transfer of cash subsidy does not mean an increase in domestic income 

of India.  

3 
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12 

 
In the given diagram, CC' Is the consumption curve which shows autonomous 

consumption equal to OC at zero level of income and consumption equal to income at OA 

level of income. 

* At zero level of income, saving expenditure is equal to OS which is equal to autonomous 

consumption of OC at that level of income. So, S is the starting point of savings curve. 

* At OA level of income, consumption expenditure must be equal to OD=OA so Savings 

are zero at OA level of income as the whole of Income Is spent on consumption. This 

gives a point A on the savings curve. 

* By Joining S and A and extending it further, we get savings curve. 

3 

13 a. Though it seems reasonable to treat a person's income level as his or her level of well-

being in terms of greater availability of goods and services because of more purchasing 

power, but welfare is a much broader concept. So not fully correct. 

b. GDP is often used as an index to measure the welfare of people. Welfare here refers to 

the sense of material well-being amongst people. The welfare of people depends upon the 

per head availability of goods and services. It means that higher GDP is good for a country, 

as it indicates greater welfare for the people. 

4 

14 a. A government budget is an annual financial statement showing item-wise estimates of 

expected revenue and anticipated expenditure during a fiscal year. 

Objectives: 
Economic stability 

Reallocation of resources (any other points) 

b. Tax Revenue: 

Direct tax 

Indirect tax (Explain) 

2+2 

15 The maximum value of the investment multiplier is infinity 

when the value of MPC is 1. 

 
When MPC = 1, K = infinity 

The minimum value of the investment multiplier is 1 when the 

value of MPC is 0. 

 
When MPC = 0, K = 1 

4 
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                                                                  OR 

 
16 a. Deficit budget  

b.  

 
c. Explain   

1+3+2 

17 

 
                                                               

6 
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Inflationary gap: 

 
Explain 

Repo rate: Define and Explain. 

                 SECTION B: INDIAN ECONOMIC DEVELOPMENT  

18 A: d 1 

19 A: d 1 

20  A: b 1 

21 Land-ceiling is a policy of land-reform, under which the maximum size of the agricultural 

land that can be hold by a landowner is fixed. 
1 

22 A: d       1 

23 A: b 1 

24 A: c 1 

25 A: b 1 

26 A: b 1 

27 Ans: c 1 

28 
 By import substitution, the government protected the domestic industries from foreign 

competition. 

3 
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      Protection from import took two forms: 

a. Tariffs – are a tax on imported goods. They make imported goods more 

expensive and thus discourage their use. 

b. Quotas – specify quantity of goods which can be imported. 

By these two means, domestic firms were protected from foreign competition. 

 
29 Agricultural Marketing is defined as a process of marketing farm produce through 

wholesalers and stockiest to ultimate consumers. 

Defects of Agricultural Marketing are: 

1. Inadequate Warehouses 

2. Multiplicity of Middlemen 

3. Malpractices in Unregulated Markets 

4. Improper Measuring for Weighing, Grading and Standardisation 

5. Lack of Adequate Finance 

6. Inadequate means of Transport and Communication 

7. Inadequate Market Information. 

3 

30  The economic justification of subsidies in agriculture at present is a debatable question. It 

is generally agreed that it was necessary to use subsides to provide an incentive for 

adoption of the new technology by farmers in general and small farmers in particular. Some 

economists believed that once technology is found profitable, adopted subsidies should be 

stopped. Further the subsidies are meant to benefit the farmers and among the farmers it 

benefits largely those farmers in more prosperous regions. Therefore, it is argued that there 

is no point of continuing subsidies as it does not benefit the target groups.On the other 

hand, some believe that government should continue with agriculture subsidies because 

farming in India is important and most farmers are very poor and will not be able to afford 

required input so eliminating subsidies will increase inequality between rich and poor 

farmers. As a result, experts argue that subsidies should be given and see that the poor 

farmers enjoy the benefits. 

4 

31 a. In India wages are low and skilled workers are more. 

b. There is a revolutionary growth of IT industry in India. 

* Thus, India is able to take advantage of competitiveness of the manpower. 

* most of the MNC s and even small companies are outsourcing their services to India 

where they can get their jobs done at a cheaper cost with a reasonable skill and 

accuracy. 

4 

32 Education is an important source of human capital formation. Investment in education 

stimulates economic development in the following ways: 

1.  Raises production. Knowledgeable and skilled workers can make better use of 

resources at their disposal. It will increase production in the economy. An educated 

and trained person can apply his knowledge and skill at farm, factory and office to 

increase production. 

2.  Raises efficiency and productivity. Investment in education increases efficiency and 

productivity, and hence yields higher income to the people. 

3.  Brings positive changes in outlook and attitudes. Knowledgeable and skilled people 

have modem outlook and attitudes, that they make rational choice in respect of places 

and jobs. 

4.  Improves quality of life. Education improves quality of life as it provides better job, 

high income and improves health. It results in better standard of living. 

NCERT n UGC 

                                                         OR 

4 
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Human capital is a stock of skill and expertise of a nation at a particular point of time. The 

contribution of human skills and expertise towards economic growth and development is 

invaluable 

i. Investment in Educational Sector: Education not only raises the standard and quality of 

living but also encourages modern attitude of the people. Moreover, education increases the 

productive capacity and productivity of a nation s workforce by honing their skills. Further, 

education increases the acceptability of modern techniques and also facilitates a primitive 

economy to break the shackles of tradition and backwardness. An investment in educational 

sector has two fold benefits. It not only increases the income earning capacity but also 

reduces the skewed distribution of income thereby forming an egalitarian society. The 

investment in educational sector has long lasting returns. It not only enhances the present 

economic condition but also improves the future prospects of a country. The importance of 

education is not only limited to making people educated. but also in facilitating an 

underdeveloped economy to solve different but interrelated macro economic problems like, 

poverty, income inequality, population, investments, under utilisation of resources. 

Therefore, investment in education must be accorded high priority in an underdeveloped 

country as it leads to the enhancement of human capital qualitatively.  

ii. Investment in Health Sector: There is a saying the greatest wealth is health The wealth 

of a country can be increased with the efforts of healthy workforce. Investment in health 

sector increases efficiency, efficacy and productivity of a nation workforce. In contrast to 

an unhealthy person, a healthy person can work better with more efficiency and, 

consequently, can contribute relatively more to the GDP of the country. Good health and 

medical facilities not only increase life expectancy but also improves quality and standard 

of life. Investment in health sector ensures the perennial supply of healthy workforce. Some 

of the common expenditures incurred in the health sector are on providing better medical 

facilities, easy availability of life saving drugs, common vaccination, spread of medical 

knowledge, provision of proper sanitation and clean drinking water, etc. Thus, the 

expenditure incurred on health is important in building and maintaining a productive work 

force that in turn leads to the development of quality human capital in a country. 

33 a.  
• A: The PSUs which are making profit should not be privatized. 

• Privatization implies shedding off ownership of a government owned 

enterprise. 

• The public sector’s main motive is social or economic welfare of the 

people and the private sector’s main motive is to earn profit even at the 

cost of public welfare. 

• So, those PSUs which are making profit should never be privatized or 

it will damage the interest of the poor section of the society. 

• We can achieve growth with justice only through the participation of 

the public sector. 

• It is essential to privatize only those PSUs which are making losses. 

b.  

A set of economic policies directed to achieve improvement 

3+3 
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in economic efficiency. 

High fiscal deficit 

b. BPO crises and fall in forex reserves 

c. Rise in price 

d. Inefficiency of public sector enterprises 

e. The government was not able to repay its external debt. 

* Due to the above reasons India was facing problem of declining foreign exchange, 

growing imports, high inflation. 

* In order to deal with the financial crisis and pressure from financial institutions like 

World Bank and IMF, India had to adopt the 1991 New Economic Policy. 

                                                 OR 

a.  

  
b.  
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c. 

 
 

34 Ans: 
1-B 
2-B 
3. Animal husbandry is the most important non-farm employment in India. It is also known 

as Livestock Farming. Poultry, cattle and goats/sheep are the important components of 

livestock farming in India. Most of the rural families carry out livestock farming together 

with crop farming in order to increase their income. The share of livestock farming is 

comparatively higher in the semi-arid and arid areas than the irrigated areas. This is because 

the arid areas have lesser access to irrigation facilities and thereby, crop farming is less 

feasible. Thus, in other words, it can be said that livestock farming provides sustainable 

livelihood to the people in the semi-arid and arid regions where farming can be performed 

well. Further, capital investment in livestock farming is comparatively less than that in crop 

farming. In addition, livestock farming is an important source of employment for rural 

women. Presently, animal husbandry is the most important source of alternative 

employment, employing approximately 70 million small and marginal farmers. Besides 

providing employment, livestock farming has resulted in increased production of milk, 

eggs, meat, wool and other by-products, enhancing the consumption bundle qualitatively 

and nutritionally.  
4. Diversification into non-farm activities is important because it will: 

• reduce the risk from agriculture sector. 

• provide sustainable livelihood options to people living in villages. 

• provide ecological balance 

1+1+2

+2 


